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2 R< Wg=2Q 1.25 Ug ﬂ(p [Q+ (Wg—Q) xI.25]) xAxMxUq

3 120< Wg=4Q 1.55 Ug e = [Q+1.25Q+ (Wg—2Q) x1.55] xAxMxUq

4 40 < Wg=8Q 1.93 Uq e = [Q+1.25Q+2x1.55Q+ (Wg—4Q) x1.93] xAx MxUq
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223 E 260 mg/L 37 5 %790~ /kg
A 50 mg/L %frp 790~ /kg
2k 0.005 mg/L F7 o 139,500~ /kg
4% 0.03 mg/L ;T o r'Fr 7,900~ /kg
Py 2.0 ng/L 375 %1, 580 ~ /kg
Fh 0.5 mg/L AT 9”&1 580~ /kg
2 5} mg/L 70 %1, 580~ /kg
B 0.5 mg/L 70 #T90~ /kg
B R AR 10 mg/L 7 0 790~ /kg
4 3.0 mg/L 1o BRT790 7~ /kg
& 1.0 mg/L 1o #7907~ /kg
44 1.0 mg/L 7o HT90~ /kg
iE 5.0 mg/L 1o %1,000~ /kg
& 0.05 mg/L 7o W2, 370~ /kg
g 10 mg/L 7o %1, 580 /kg
4 0.5 mg/L 7o W2, 370~ /kg
42 2.5 mg/L 7o %1, 580+ /kg
41 0.5 mg/L 1o 1,000~ /kg
b 0.5 mg/L 7 0 %1,000~ /kg
paz 5.0 mg/L 1o %1, 580~ /kg
%R 10 mg/L 1o 1,000~ /kg
v pE 3.0 mg/L 1 o #1,000~/kg
LE AT D 0.5 mg/L #7 5 %1, 580~ /kg
£d 4R 400 mg/L 7 5 %790~ /kg
£33 A o 5 R 10 mg/L 7o % 1,000~ /kg
X 1.0 mg/L 7o % 1,580~ /kg
E 15 mg/L F1 e 42,000 /kg
B it 4m 1.0 mg/L 1o %1, 580~ /kg
ity 1.0 mg/L o WT7,900 7~ /kg
B (Fezd i) 30 mg/L 7o % 1,000~ /kg
BEA M BP 1. 37 mg/L T oW, 900%/kg
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